Chapter 11 – Practice Questions



1.
When the consumer price index rises, the typical family

a.
has to spend more dollars to maintain the same standard of living.

b.
can spend fewer dollars to maintain the same standard of living.

c.
finds that its standard of living is not affected.

d.
can offset the effects of rising prices by saving more.


2.
The term inflation is used to describe a situation in which

a.
the overall level of prices in the economy is increasing.

b.
incomes in the economy are increasing.

c.
stock-market prices are rising.

d.
the economy is growing rapidly.


3.
In the CPI, goods and services are weighted according to

a.
how long a market has existed for each good or service.

b.
the extent to which each good or service is regarded by the government as a necessity.

c.
how much consumers buy of each good or service.

d.
the number of firms that produce and sell each good or service.

Table 11-1

	Year
	Peaches
	Pecans

	2005
	$11 per bushel
	$6 per bushel

	2006
	$9 per bushel
	$10 per bushel



4.
Refer to Table 11-1. Suppose the typical consumer basket consists of 10 bushels of peaches and 15 bushels of pecans. Using 2005 as the base year, the CPI for 2006 is

a.
100.

b.
120.

c.
200.

d.
240.


5.
Refer to Table 11-1. Suppose the typical consumer basket consists of 10 bushels of peaches and 15 bushels of pecans. Using 2005 as the base year, what was the inflation rate in 2006?

a.
20 percent

b.
16.7 percent

c.
10 percent

d.
8 percent

Table 11-4

The table below pertains to an economy with only two goods -- books and calculators. The fixed basket consists of 5 books and 10 calculators.

	Year
	Price of books
	Price of calculators

	2006
	$24
	$8

	2007
	  30
	12

	2008
	  32
	15



6.
Refer to Table 11-4. Using 2006 as the base year, the inflation rate is

a.
13.3 percent for 2007 and 14.8 percent for 2008.

b.
35 percent for 2007 and 14.8 percent for 2008.

c.
35 percent for 2007 and 55 percent for 2008.

d.
135 percent for 2007 and 155 percent for 2008.


7.
If the price index was 90 in year 1, 100 in year 2, and 95 in year 3, then the economy experienced

a.
10 percent inflation between years 1 and 2 ,and 5 percent inflation between years 2 and 3.

b.
10 percent inflation between years 1 and 2, and 5 percent deflation between years 2 and 3.

c.
11.1 percent inflation between years 1 and 2, and 5 percent inflation between years 2 and 3.

d.
11.1 percent inflation between years 1 and 2, and 5 percent deflation between years 2 and 3.


8.
Which of the following is not a widely acknowledged problem with the CPI as a measure of the cost of living?

a.
substitution bias

b.
introduction of new goods

c.
unmeasured quality change

d.
unmeasured price change


9.
If the nominal interest rate is 8 percent and rate of inflation is 5.5 percent, then the real interest rate is

a.
13.5 percent.

b.
12 percent.

c.
2.5 percent.

d.
-2.5 percent.


10.
Ralph puts money in the bank and earns a 5 percent nominal interest rate. Then, if the inflation rate is 3 percent,

a.
Ralph will have 3 percent more money, which will purchase 2 percent more goods.

b.
Ralph will have 3 percent more money, which will purchase 8 percent more goods.

c.
Ralph will have 5 percent more money, which will purchase 2 percent more goods.

d.
Ralph will have 5 percent more money, which will purchase 8 percent more goods.

ANSWERS:

1=A, 2=A, 3=C, 4=B, 5=A, 6=B, 7=D, 8=D, 9=C, 10=C

